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QUESTION 1

What are two reasons for creating a network location? (Choose two.)

A. Locations are used to implement Call Admission Control.

B. The location of a caller is used to determine which Session Manager will process the request.

C. Locations are used to limit the number of users that may register to the session manager specific physical location.

D. Session Manager uses the termination location of a caller to determine which dial patterns to look at when routing the
call.

E. Session Manager uses the origination location of a caller to determine which dial patterns to look at when routing the
call.

Correct Answer: AE

QUESTION 2

Which two wildcard characters does Session Manager allow to specify a location pattern? (Choose two).
A. "%" (percentage)

B. "$" (dollar)

C. "*" (star/asterisk)

D. "#" (pound/hex)

E. "X"

Correct Answer: CE

QUESTION 3

A System Manager (SMGR) product administrator needs to perform some routine maintenance on an Avaya product in
their network. Although they can successfully log in to SMGR, they do not have access to the menu they require in the
navigation panel. Which action must be taken?

A. Make sure that the administrator has been assigned to a suitable group.

B. Make sure that the administrator is not logged in at a different browser.

C. Ensure that the administrator\\'s authentication type is set to \\'enterprise\\' so that SMGR can retrieve permissions
from the active directory server.

D. Check that the administrator has been assigned an appropriate role.

Correct Answer: D
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QUESTION 4

Application definitions allow system administrators to define and mange individual applications each with their own
attributes. The definitions allow administrators to add one or more such applications to which of the following?

A. application programs
B. application data sets
C. application sequences
D. application lists

Correct Answer: C

QUESTION 5

While performing routine maintenance a technician has had to re-install System Platform. Which statement describes
what must be done next?

A. The SMGR Template must be installed.
B. The SMGR Template must be installed, followed by the utilities domain (in that order),
C. The utilities domain must be installed, followed by the SMGR Template (In that order),

D. The Dom-0 must be installed, followed that order) by the utilities domain and then the SMGR Template (in that
order).

Correct Answer: A
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